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01 AtR2t2|HI 5,640 5,640 0
Odgt+=d| 5,640
OnsEz2 Sd= 450,0003 = 12CH 5,400
O3Site ClIEA 60,0002 *4CH 240
2 5234l 187,652 187,418 234
0332= % HAl 187,652
OXEi 2= 29,628
-SEXt 609,000 »28CH 17,052
-SExt 687,000 «6LH 4,122
-S=Xt 609,000 *6CH 3,654
-ADIEE R SH=S
400,000 12& 4,800
(@20 FuE = = 150
RCIE=SN} 150,000 «1CH 150
OXFEHAI 6.444
-SEXt 210,0002 »28[H 5,880
-SEA 67,0002 +6CH 402
RCIE=PA; 27,0002 +6H 162
OXNSAt BAt= 1,270
-SEXHEIIZA 26,5004 =4CH 106
-SEIHSEEA 56,0002 ~6CH 336
-SEIHESEEA 56,0002 «9CH 504
-StSIHSEBAH 54,0002 6CH 324
ORggs =tz 30,000& ~12& 360
OXrzrdeb (&8, |FH S) 149,800
-gxt 2,700,000 *6CH 16,200
EAWIPN; 1,650,000 * 12CH 19,800
BTN} 4,900,000 * 10CH 49,000
-Sgxt 6,500,000 ~6CH 39,000
-st=xt 4,300,000 64 25,800
405 AtatE=H 109,500 75,000 34,500
01 Tt =S F=HI 109,500 75,000 34,500
O3 (UMFS) 109,500
O=gsa(AEeIoh
42,500,000 »1CH 42,500
OSESSHIIXH(0t0I245)
67,000,000 = 1CH 67,000
Hef2td T2 0I= 36,120 33,240 2,880
201 et 3| 36,120 33,240 2,880




SA: 3D
mu: 2E - AElo] 3 BE e
el dlelgtsE HASNE 29 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 27,600 24,720 2,880
OXZHE YFZZY 0182
2,300,000& 123 27,600
02 S3=gHl 8,520 8,520 0
OXet2tel T2 |2
710,000& * 122 8,520
a=E80 =32c 99,050 0 99,050
201 2= 99,050 99,050
01 At22telt] 99,050 99,050
OXXIEH ] szl AHIA
2,830& 35,0008 99,080
SEMAL] MAE 2t 2,097,900 1,737,900 360,000
SHME 2e| 29 2,056,900 1,716,900 340,000
201 er23y| 2,026,900 1,711,900 315,000
01 AtR2t2|HI 46,900 46,900 0
O3F ML SR 46,900
OSF etz H & (o) sel
20,0002 *0F+43] 7,200
OSFTHatAlel (o) Rl
30,0002 20 +62] 3,600
OZd88Itera 200,000 702 X 14,000
OB S22
600,000& 20 X| 12,000
O=2dI& XY E =8
650,000& 104 6,500
OZSMLAIE i BA 4L
100,000 6 *62] 3,600
02 S3=gHl 1,980,000 1,665,000 315,000
osE2= & HA 1,980,000
OMc==7dI(AE & ANEE)
780,000,000 780,000
Ozolitie SMab(EE2 & LPHHA)
1,200,000,000& 1,200,000
401 Al HIZ S OHYI 30,000 5,000 25,000
01 AlZ2H| 30,000 5,000 25,000
OsFML & RAE+
2,000,000& 153 30,000
CRML 2e| 29 41,000 21,000 20,000
201 el 11,000 11,000 0
01 At2teltl 11,000 11,000 0
O RIHE AL 2te] 11,000
OZdEt=+g 200,000 x 102 X| 2,000
OZRUA Z2t4e2
600,000 «6E& K| 3,600




SA: 3D
M ZH - NZO A E =Y
Rl SFMAS] HMAH 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ogztael Yd+==
250,000 * 122 3,000
OmIIB2| o442
200,000& * 128 2,400
401 AIEHIL 2L 30,000 10,000 20,000
01 Al 30,000 10,000 20,000
OZRMA HY RX24
2,000,000& 153 30,000
=50 EelE HARL 2,239,3% 6,350,711 A4,111,355
S AR 2t 2,011,35% 6,350,711 A\4,339,355
01 21AH| 44,016 29,832 14,184
MU IIRIMZENSES 44,016 29,832 14,184
OFA AlE 2|l E5X22 X 44,016
OglZit| 2,300,000 «1& 122 27,600
OEE=IH| 610,000 x 1 =23 1,220
OH X2 4| 76,6702 x 1B 152+ 1E 1,151
O=gg JI228= 3,085
-=23=s 27,600,0002 *4. 5% 1,242
—2ZE2E 27,600,000 *3.495% 965
-HIIRLES 965,000 *12.27% 119
-1ELE 27,600,000 *1.75% 483
—OHHEE 27,600,000 * 1% 276
(OLIES=) 10,000,000 x1E*12] 10,000
O=ArelE 960,000 x1H =13 960
201 el 1,434,890 1,417,608 17,282
01 At2teltl 286,475 474,912 188,437
Oggt+==H| 79,720
ogeEs d=24 F¢ 50,000 x202 1,000
O&A8 HMEZOH |2
75,0003 * 122 900
OFAl=HSAL €HES T
200,000& 42 800
OFAL AIRA AIEHIE F(S2HE &)
400,000 %102 4,000
O848 25 7
220,000 «85* 122 21,120
O3&E & 28 7¢
40,0003 %602} A% 123 28,800
OFAL SHUE & HE HE JH|
165,000 #4E5*3574 2 23,100
OFAAIE 2] A LS
150,000& x4 S5+2d 1,200
OFAr2e| g2 183,655
O&yjerdate] el & HEHA
800,000 #4H + 123 38,400




A 3HL
M BF - A9 3N HH EE

Chol: ESID Hels AR (Shol: % 2)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OAaghot™2te| CHEl
550,000 *3H A+ 12& 19,800
OBYI| B4R U HEAN
400,000& *5CH*12& 24,000
OSe3 HA (M)
30,0003 x26E*23| 1,560
OASIE HA(BMA)
15,0002 *485E%13| 7,275
OFAF 2 (3IMA) 1,150,000& *x523| 59,800
Odt=HelAE /e 2 (2SR
470,000& x5 2,350
OHI2IZ Helbl 400,000 204 A~ +83] 6,400
OFERHZMAIAE HAL4LS
500,000 x 1) A+ 122 6,000
OCCIVAIA8! HEHe2
300,000 14 A+ 12 3,600
OJIA OHEAAN =22
220,000 *x13] 220
O3 =2 BA
50,000& *40H A~ 200
OME=E =22 A 50,000& *30H A~ 150
OAZ A HAHI
1,700,000& 13 1,700
OYABA BE SAHL
6,200,000& 13| 6,200
OFAI AU 318 =8
1,500,000 & x2JH A %23 6,000
ORSH=3 & 2o1HHI=A
250,000& 128 3,000
ONHA=E Aol HII=H(3WA)
650, 000& *34 A 23| 3,900
OZFINBHHI OAIR
5,000,000& %33 15,000
02 2Z22ZH| 1,148,415 942,696 205,719
02222 2 MA 1,004, 140
O&I| =2 16,000,000 40 A+ 122 768,000
OuoleE 22
4,500,000& 4 A x 128 216,000
ODERLRLS
3,000,000& *4 i A *13) 12,000
ORLHAIE TAIDIA 22
350,000 128 4,200
O2=2tAF 2t2lH] 300,000+ 12& 3,600
O&I|etd 22| 3| 80,000& x2H 160
OOt E S| H| 60,000 *3H 180
OAIEEH|IRXIBI 144,275
OFEAIAZ S|
20,000,000 & *4 0 2~ 80,000




2A:

21 A4

mo: BE AT 5N ¥Y s
el B Bels HAIRR (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oodte |l Sl 2,250,000 *40H 2~ 9,000
OdHED] ZHEA
3,000,000 *49H 2= 12,000
ON2SAEAHBH2EHAHEX]) SED|
ZH WA 3,000,000& *22] 6,000
O&A}F CCTVS=XIH| 1,500,000 #4042~ 6,000
OFA2MAIAE S
2,000,000 * 10 2= 2,000
O&EA =& 22l
3,000,000 2 2+23] 12,000
OM=ZtHl |XIH| 55,0002 «5CH 275
A0S | 120,000 *100CH 12,000
OHgZad &yl =AM
2,000,000 +29H 2= 4,000
OFALED H&8 =Xl
1,000,000 «1CH 1,000
206 MH=H| 19,150 73,604 ANBA,454
01 MHZH| 19,150 73,604 N\B4,454
OFAL 22IEZ 19,150
OAlEd= A=cl A 7
220,000& x 10522 4,400
o&Jl 223 7¢
220,000&x105+23] 4,400
OLesI1+ 7 100,000 *50H 5,000
OaxgAIE M 7
130,0002 x105+23] 2,600
Oag=dEH 285 7
110,000& 55 +13] 550
OFY, S==AIE I
110,000& *x105+12] 1,100
Os&)| Satzs 7
11,0002 1002 *13] 1,100
401 AIZHIX 20HH 443,800 4,764,167 N4,320,367
01 AlZ2H| 443,800 4,764,167 N4,320,367
OFA Lh 2AE RXE=>
3,000,000 *40H 2= 12,000
O34, e, AMAIL ST22
3,000,000 *40H 2~ 12,000
O&JINE FNE=
19,950,000 #40H 2= 79,800
OFAL A=, A= 2=
28,000,000 *4J 2 112,000
OARA U DEIE o @ea 24
7,500,000 *40H 2~ 30,000
OBA W AIRE =ESAL
22,000,000 #4IH 2 88,000




2A:

21 A4

M ZH - NZO A E =Y
el B Bels HAIRR (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ON3ENEE FIIQHEY
8,000,000& x2I A+23 32,000
ORN2SAIZAL 2I2J& (65, 126Mm) =& SAb
60,000,000 *1IH £ 60,000
O2ztH=al2t 2HI| HH A
900,000 2004 A 18,000
405 AHaHE = 69,500 65,500 4,000
01 It =S F=H 69,500 65,500 4,000
OFU AtRd &I 2 69,500
OA2RE MY (2eINE)
600,000&*15H 9,000
ONSE HA(ARTIR)
200,00021*35H 7,000
OMRE X (Z2IXtE)
500, 0003 *20H 10,000
OMRE IHASRIE)
300,000&*35H 10,500
O0lsAl NEH 200,00021*35H 7,000
OIMHIA 300, 000& *307H 9,000
O&At 2 38 78 850, 0003 *20H 17,000
ZeSe2 == oleXclAlE HE A 228,000 228,000
401 AIEHIX 20HH 228,000 228,000
01 AlZ2H| 228,000 228,000
O2std =2 - =ot=HelAlE ALY 228,000
OAl&H] 220,000,000 * 190 2 220,000
O&AIEAH S| 8,000,000& 1] 8,000
M 2AZHI(SHIM) 335,688 78,642 257,046
el 2E| 237,952 0 237,952
SIIAHSZ 2 Al 24| 237,952 0 237,952
101 ©1AH| 237,952 0 237,952
03 SR (RIH )22+ 237,952 0 237,952
OFA2ACIE 237,952
OJl=s(ta) 152,602
-30& Xt 3,141,560« 1H+ 123 37,69
—-19& Xt 2,772,608 x1H« 1228 33,272
AP\ 2,306,350« 1E 128 27,677
RU=PN; 2,267,460« 18~ 12& 27,210
= 2,228,6003 1 *12& 26,744
O=Z&5+¢ 7,632
-30= Xt 157,070 x1&x 122 1,885
199Xt 138,630&x 12+ 123 1,664
A=PN; 15,3103 x 1~ 123 1,384
RPN 113,370 x 1 x 122 1,361
-SEXt 11,4303 ~1&x 122 1,338




SA: 3 H
S HY2AAUI(SH D)
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O=g 54,774
LN 140, 0002 +52+ 122 8,400
OtEsg 100,000 #5212 6.000
-BrEg 100,000+ 12+ 122 1,200
NCFEL PN
18,430 & *30 Al 2H5H * 123 33,174
-l 50,0003 x5« 12& 3,000
Sgfsy 50,0003 x5 =123 3,000
OYE IOt 2,622,680 *50%*5H *23| 13,114
OHIEAZ 98,3003 x5 +20 9,830
f=pls]! 97,736 78,642 19,094
J|1E23&| 97,736 78,642 19,094
201 B2 AH| 47,816 34,782 13,034
01 AtR2telt] 47,816 34,782 13,034
oJl2gRsass FY(01=3])
500,0002+37 18,500
O38I(0IEZY)
8,000&+37H+8L*12& 28,416
OBRE2Z XA AL TI=YI
90,0003 x2E+5Y 900
202 0idl 44,400 37,200 7,200
01 =LHO4 b 44,400 37,200 7,200
O=WubI(OI=&l)
20,0003 *37H x5« 12F 44,400
203 AR F=&lh| 5,520 6,660 21,140
M 2GRS 5,520 6,660 21,140
QIlENH 5,520
O30¢! 0I5t 400,000& *12& 4,800
O302! =1t 5,000& x 128123 720
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FA 32SA
M 210 8= 2109 -3 78
ol HEAR 4 L AlZlEs HEE0 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMeldBael T2 At 2toldA
32,5203 %1,310% 42,602
OSQoHX| 22| 22 H2t 2told A
32,5203 1,310 42,602
OUIPCXIZI0l =208 &2t eloledA
26,500 *500% 13,250
ORI 2elAAE FXE=H
742 5003 x 122 8,910
OHIEERE e MYES
20,000,000& x12] 20,000
OAMHE HIolAAMAI(1E 2018 A)
352,000 604 21,120
OPCE HiOl2AAMAI(1E 2tol&dA)
26,0002 %1,500% 39,000
O=orAR|ERHE(14 cloldA)
3,000& *1,560%& 4,680
ANsEEs SR 19,616 90,080 AT0,464
201 2= 19,616 10,080 9,536
01 AtR2t2lt] 19,616 10,080 9,536
OH=Al EE3ARS 29
121,600&x10E~12] 1,216
OFFAl WY 23
100,000 6 *43] 2,400
OMCHEIIRIEE MAIE
250,000 x8H +83] 16,000
KEotset D853 d2MHIA W3 5,748,349 2,905,528 2,842,821
F2HE YR Letzd 282,960 202,560 80,400
201 er2 3| 281,960 201,560 80,400
01 At2t2lt] 281,960 201,560 80,400
OSY=MIZEES I8t S SW 2LHI(BS 1,
7242) 240,000,000 240,000
OReUALZI| 25 ABIA OHAZ ME
20,0002 100 2,000
O&XDX &&H| 1002 %50,00021 5,000
Ol 2E8 I 2l 2,700
Oger gy &Y 220,000 *5H 1,100
OX&E ol &Y 220,000 *5H 1,100
OZdZed &3 50,0003 * 107K 500
OZiZelH 2gE I 7L 4,660
o™ 500,000 1K 500
O&H 660,000 *1H 660
OEHEHIME 1,300,000 *1Set 1,300
OFNRA(2E) 1,200,000 *1H 1,200
OE-HMAHIIE(2E) 1,000,000 *17HK 1,000
OZctRE JHAPC S/ 2toldd A 4l 27,600
O8E210 230,000 * 120X 27,600




2A: H2S8
M 210 M= 21O HE 7
&l NHItss AR FEAMHA MBS (St &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
203 YR =XiH| 1,000 1,000
03 AIZHF=RIAREEIH| 1,000 1,000
OFEANHIA B3 A2EW
1,000,000 1,000
HEEZAIAE 29 & |22 1,280,750 1,292,958 A12,208
201 B2 AH| 1,112,242 1,125,490 N 13,248
01 AtR2t2lbl 20,000 21,100 A1,100
orPCE1dI0IE 100, 000& = 100CH 10,000
OAMEEE PCLIED| E =&
200,000 *50CH 10,000
02 S32ZH| 1,002,242 1,104,390 N12,148
OTLAAE SIS 2=H| 932,5%
OAH (44TH) 15,709,000 12& 188,508
OXMAEZEXI(7TH) 8,357,000 122 100,284
OJIEFEH] (KW, N/W, 2 oFEEH] 8RS 73CH)
4,679,000 x12& 56,148
(@LFSPSPSEEPSONICIND)
1,052,000& x 128 12,624
O&t28tE01(40H) 977,000& x12& 11,724
O2ET2 ) (8E)
21,019,000& x 128 252,228
O ZL(R2Y, ACE)
11,562,500+ 12& 138,750
OQuUSYH AR B2 Al AE
6,250,000 x 128 75,000
OSEAE 2 AIAE
1,775,000& x 128 21,300
ORIHE RS BIR|AIAE
1,264,580 x 128 15,175
OFEFAIHIAHAIAE
750,000& x12& 9,000
OAZEHEMBAIAE
571,000&x12& 6,852
OUHEHIIZHIAIAE
803,400 x3& 2,411
OASZYHNSHRSAIAH
533,330 * 12& 6,400
OITRHARZEE| Al A Bl 800,000& 128 9,600
OFF| 22| A AE 2,084,000&~12& 25,008
OXA] (| 2F Al A B 132,000& x 128 1,584
OMSEXILUAFT 221015 AIEZ
550,000& 13 550
ORI EHEE KRAIEZH|
11,420,000 x 12& 137,040
OdI0INEEIH SAIEZH]
1,838,000& x12& 22,056
308 AXIHHSOIA 168,508 167,468 1,040




FA 32SA
M 210 M= 20O wEF
&l NHItss AR FEAMHA MBS (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 SIS0t 4 A AS A 168,508 167,468 1,040
OBEIIY HATE Y =T SAZL
all 127,000,000 12 127,000
OM= MEIANIAZ FX2eld]
6,600,000& 12 6,600
O=2LI2tAIAE S/W S XI2telt]
34,908,000 *13] 34,908
AL SEAIAFT 452,710 736,870 A284,160
405 AHatE = 452,710 736,870 A284,160
01 ML ESFSHI 452,710 736,870 A\284,160
PRE MAHH WA 404,000
Ol sz = 1,400,000 *200CH 280,000
OZegH(MESEN) 600,000 »70CH 42,000
O2UH 400,000 »100CH 40,000
OLE=S 1,500,000 *28CH 42,000
ORI AE ST 25,000,000 *1CH 25,000
OFCYUALZI| UIERD 2ot FbI
1,710,000 *1CH 1,710
OADIEFAIHHAIAE(I12A3)
11,000,000 +2CH 22,000
ES AMEXOICINNE 2SX(2HEFRH) 259,400 256,900 2,500
306 £= 259,400 256,900 2,500
01 2d= 259,400 256,900 2,500
OZ=SAEX0ICIHAEH Bl 2=
259,400,000 259,400
NSatEal At A0 A (SHAEXE) 60,000 60,000 0
308 AFAIEHMSOIE 60,000 60,000
11 SI[2S0 e YA A A 60,000 60,000
OGrand ICTA2HIE XIR A
60,000,000 60,000
BICHE 22HAH = 174,760 186,240 18,520
201 er2 3| 2,460 0 2,460
01 At2teltl 2,460 0 2,460
OANIERAINE += 2,460
OZFH ot==2or 50,0002 * 107K 500
Ostazl2E o EA 50,0003 * 107K 500
Oodz=Jl € 223
800,000 *1JH A 800
OZegH &4 220,000 *3H 660
401 Al HIZ S 0HbI 1,500 1,500
01 A28l 1,500 1,500
OANERAINH 2= 1,500
OXI2elA(2e) TS HHE ZX
1,500,000 1,500




FA 32SA
M 210 M= 20O wEF
ool X20bss D2 HPAHIA HZ (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 170,800 186,240 14,560
01 It =S F = 170,800 186,240 14,560
OANIERIME = 30,800
O&FFH 1,000, 0002 * 10CH 10,000
O=ZLIH 400,0002 = 10CH 4,000
OE== 600,000 1CH 600
O34 500,000 1CH 500
OgHtIEHI0I= 200,000 *1H 200
OafeI 300,000 *10H 3,000
Od&E1(300L015H) 700,000 *1CH 700
Ozt et 160,000 *5H 800
OHMA(ARXE) 200,0003 % 10H 2,000
O2ATHARIHE) 300,000& % 10H 3,000
Oy dst 600,000 = 10CH 6,000
odtA3 &¢ 70,000,0002 *2CH 140,000
HMOEYI0|1 02 2= (=B XH) 2,500,000 2,500,000
403 AXIEHHISAH=0l 2,500,000 2,500,000
02 SISt 2 S A AIEHI 2,500,000 2,500,000
odIEg 01022 P&
2,500,000,000& 2,500,000
=-Uct S252.0 88 7= 737,769 737,769
405 AtatE = 737,769 737,769
01 TR ESFSHI 737,769 737,769
Oo=-lct 2X2.0 88 7=
737,769,000 737,769
ARIDt ASot= EMOIX 2 1,713,568 607,402 1,106, 166
BFAl AHAAAY HEH 29 1,513,568 607,402 906, 166
201 er23 | 451,550 444,118 7,432
01 At2teltl 16,600 19,080 A2,480
O¥AIE SHAUS 1,000,000 +55 5,000
OSNRUERE(BFSS)
11,600,000& *15 11,600
02 s3=gHl 434,950 425,038 9,912
OCIES! oel2tel [l
42,0002 205 840
OLHHIA(FUE) &5 AER(AUE)
3,000,000 15 3,000
O M I (MY HY) IS AIBR
1,100,000& %15 1,100
ORIZIOt01E ZRIeIE ALZR
550,000& x15 550
OSSL AtE= 250,000 x15 250
OZXHIAIXIMEIA 0IB2
200,000 #5042+ 123 12,000




2A: BBESA
Ha: 210 M2 2D FF P
2: AlGID ASE6=E ESHOIK 29 (e A
= -i[l_j =
SA B O(B1H) - MRAR - BYS Ofl kot a&ﬁ HR=2
OAN EHOIX S& X2+ 185,976
OUE EHOIX S 1=
5,460,000 128 65,520
OAMSEAZHO0IX S 165
4 545 0002 x 128 54,540
OMZLRIZHOIX S B85
5,493,000 * 12& 65,916
OZEHO0IX 29 AZEQ N SXE2H| 97,353
OUE ZEHIOIK 2% AZTE0](DBMS, WebtoB
, Jeus) 2,447 0002 128 29,364
OHIHHAIFAIAE 29 AT E0 (WebtoB,
Jeus) 332,000+ 128 3,984
OZHIOIXl Jtatgl 29 AZEH N
866,000 128 10,392
OZHOIX M E24
280,000 12 3,360
OBbook 2 =24 236,000 128 2,832
OKAH EotZz )2 90,0003 x12& 1,080
OEHOIX &5 2LIHYE AZEAN
130,000 128 1,560
OANHIA 228 A= ZLIEHZE AZERIN
369,000 12 4 428
OZHO|X| AR ATEY N (2S)
633,000 x 128 7,596
OZEHO|X AR ATEJNH(IE)
125,000 +9& 1,125
OZHIOIKl EH=A 363,000& 128 4,35%
OJEH 293,000 x 128 3,516
OSEBotREANAEH 29 ATEY (2SS
) 832,000« 7,488
OEZHOUAIAE 2 ATEYNH(2E)
825,000 128 9,900
OZHI0| Xl BB= 35} 183, 000& 128 2,1%
OZHIOIXl =HHIIAIAE
348,000+ 128 4,176
OAIZHIOIXl GIEANH 29 K|AE4H| 133,881
OZHI0IX MHIAZ 22| A (150H)
3,642,000& 12 43,704
OBbook, AINEHS W EH2AH AIH
279,000 x9& 2,511
O2Z 3 MB{(2x) 235,000 x62 1,410
OSotEH|I2 2tel A (50H)
556,000 128 6,672
OMZEZXI(7TH) 1,903,000& *12& 22,836
OUWESRKZ Z=HI(11TH)
1,789,000 x12& 21,468
OdtslsH = ZoA|(120H)
2,630,000 128 31,560




FA 32SA
M 20 M2 2Dl rEF P
oHSl: AIRIDE ASEHE EHOIX 29 (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHIoI = 4 Zd|(2CH)
310,000 * 122 3,720
301 EtE2 NS 900 900
14 0Bt 2a=S 900 900
OZBHOIX AIZEN Al&s 900
O&Z2ZA OIHIE &I 24
30,0002 =30 900
405 AHaHE S 1,061,118 162,384 898,734
01 AL =S F=HI 1,061,118 162,384 898,734
ORI QY SEAAYE A= 711,704
OAMbl, AERIXI S HW 178
427,524,000 = 1SET 427,524
OJtatst, 2ot S S/ 143
284,180,000 »1SET 284,180
OQIESIAIAR S2otEH| WX 349,414
OFYXHAIARS 2otHH| 95
349,414,000 *1SET 349,414
SHOIX &3t 75 200,000 200,000
207 ARl 200,000 200,000
02 MAHHEHH] 200,000 200,000
OZHIOIXl Zre|AIAE NEst
200,000,000 200,000
S FESH Ml 2 WS 5,442,724 4,196,225 1,246,499
= 1,440
Al 5,441,284
ZE2SUAAH HEH 2H 2,837,924 2,196,225 641,699
201 er2 3| 2,545,834 1,910,577 635,257
01 AtR2telHl 36,370 33,060 3,310
Oy Mg HSF NEH| 13,000
OJfeIE HRHHE
2,200&2,00001+23] 8,800
OFAE dZMaHS T
7003 +3,0000H*23] 4,200
OsSHtHZ FAEFE 225 7 15,000
oure AHI0l1= 100,000& #5082 A 5,000
(@1 100,000& *302f A 3,000
OBIE(42E) 100,000 +30CH 3,000
O3E(8%2E) 200,0003 *20CH 4,000
oA}, FAX A2F I 8,370
OEUIECIX 250,000 *5H 1,250
OZ2H JIE2A 300, 000& * 107K 3,000
OZ2H EX 140,000 x8Z 1,120
OdatEs3H) 30,0002 *100H 3,000
02 S3=gHl 2,509,464 1,877,517 631,947




2A: H2S8
M 210 M= 2700 EF
&Pl HBESY FESA AHIA BEF MBS (S &S
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
ORBEA BotAIAE RAIEZ4=H|
13,448,250 12& 161,379
OFHBEA HEKIAAE SXIE4H|
20,474 ,583& x 128 245,695
OIPEBIWEAIAE S 24|
5,896,417&*12& 70,758
OGAMI A AE RXE2H|
968,000+ 12& 11,616
ORFNNMIASZHX RAE2=H|
371,000&+12& 4,457
os2as)| KAE2H]
330,050+ 12& 3,961
ONSESEAAE SAIEH|
500,000+ 12& 6,000
OHA X2 4H| 48,0002 *72CH 3,456
ORNHEHEXAIAE SAI24=H|
352,000& ~12& 4,224
OBFASAIAE ST L4
1,900,000& *12& 22,800
ORH0ISLSAIAE X 24|
200,000 #3050 2~ 61,000
OHIHH HAZOIAIAE
20,0003 *100& 128 24,000
OBBSAANEZSF A2
2,000,000 53| 10,000
ON3IR= 517,512
OCIHY HHEMF} 17,000,000& x 12& 204,000
Oget& gt 25,000& %1208 &= 12& 36,000
OQIE Yl 35,000& 1403 & * 122 538,800
OFIE AN
6,000 *x553| &« 128 3,960
OMETNE A-ENFH
33,000& *173| &1+ 12& 6,732
O2XAMHIA E8t2e] AIE2
12,000,000 x12& 144,000
OZ|Z 210|I0| AIE2
3,300,000& 122 39,600
QlIsgsAlAY 2H3d AISE
5,000& #4073 &1+ 12& 24,420
O&E3|H AES 1,362,611
O=Ud8E3Hd 108,000
A== 30,000& #3008 &= 12& 108,000
O=IIEBEA MBI 1,196,880
=400M 2,825,000 x63| & x 128 203,400
-100M 1,582,000& *83| &1 x12& 151,872
—40M 1,204,000 *x353| &+ 12& 505,680
- 417,000 =423 S 12& 210,168




2A:
X XH -
o e

=aak

SN
REE - InETE-E
YN F2SA MY

M- B SRASH) - HRAR - B2 of v e HIDE2
M 262,0002 x402] &4+ 12 125,760
O=7t eIHA(BIE)
1,016,9502 32| & * 12 36,611
OIS
2,2003+800=2| &* 123 21,120
401 AlEHIZL S0 40,000 60,648 20,648
01 Al&H| 40,000 60,000 /20,000
OAIRA THERXIO HE RLISAHZSAK
23 A A) 5,000,000 <84 2 40,000
405 KHoHF S| 252,090 225,000 27,090
01 ML ESFSHI 252,090 225,000 27,090
OZESY == UEAIEHl uA 209,490
OBEALIXI(20HA) 57,000, 0002 =2CH 114,000
SLEREECTS
5,070,000 ~8CH 40,560
OFQHAAZ 25 FH|
5,330,000 1CH 5,330
O S3HEHI(VPN) 12,400,000 *4CH 49,600
O#ZEAMBII(IPT) 660,000 *60CH 39,600
©=AI|J| 600,000 «5CH 3,000
SYSAIAE £ X 2,600,000 2,000,000 600,000
401 AIEHIX SO 2,600,000 2,000,000 600,000
01 Al&H| 2,600,000 2,000,000 600,000
OltSYSAIAE 2,600,000
OUt=ESAIAE
2,600,000,000& 2,600,000
SEXNG 2UASLHA 4,800 0 4,800
= 1,440
Al 3,360
402 QI”FX+=201 & 4,800 0 4,800
= 1,440
Al 3,360
03 2IZ+RAETAIS I 4,800 0 4,800
OSEX BUHAEAUAI
4,800,000 4,800
=S 1,440
Al 3,360
SOIRIA AMHIA D240t 601,979 233,607 368,372
& 32,258
Al 569,721
2SS QYR F 3,500 5,000 21,500
201 er23| 3,500 5,000 21,500
01 At2teltl 1,500 3,000 1,500




FA 32SA
Hm: 210 M= 2 DO EFE P
Chel: EAIOI AHIA DS A g
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAFBHUA SZZU DEL4E
1,500,000& *1= 1,500
02 S3=gHl 2,000 2,000 0
OASHZA =5EH =X
2,000,000& 2,000
Bl 2SS4 oZet &4 396,862 40,360 366,502
201 2= 178,716 0 178,716
02 S52g4l 178,716 178,716
OZ32H0IIt0l FAIE22=H]
500,000 2404 2 12,000
OZZ20|IH0| EAIER 166,716
OZF&E 0[Ol
33,0002 *3692| &1+ 123 146,124
OXtH S&2H011H0]
33,0003 x522| &+ 123 20,592
401 AlZHIZL S0 218,146 40,360 177,786
01 Al&H| 216,940 40,000 176,940
OXAH sE2gp010t0l = =
9,222,000 * 1091 £ 92,220
OSS2A0ILI0l SE2MAIAE 2=
124,720,000 124,720
03 Al 20HHI 1,206 360 846
OXHl SS2A010t0l =t #=
9,222,000 0. %% 83
OSEA0ILI0| SS2MAIAY 25
124,720,0002 %0. 9% 1,123
HA 3200l &0 A 107,525 98,809 8,716
== 32,258
Al 75,267
201 2= 107,525 98,809 8,716
< 32,258
Al 75,267
2 352484l 107,525 98,809 8,716
OHlA SSA0IT0l Xt 2EAIL(EX) 107,525
OHA ZZ2A0II0l S22F(41404)
107,525,000 107,525
= 32,258
Al 75,267
HA SS2AO0IT0l & F=ARE (KHAI) 33,540 28,486 5,054
201 2= 33,540 28,486 5,004
02 S52g4l 33,540 28,486 5,004
OHlA SS2A0IT0| SXH2EAS (AHAI 65CH
) 33,540,000& 33,540
SO MEI(EE) HHYR &3 60,552 60,952 2400
201 er2 3| 60,552 60,952 2400




A J2SA
cH

M 20 M2 2Dl rEF P
Chel: EAIOI AHIA DS A (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 8,000 10,000 /2,000
OEZ2 A2EZ7(HE )
3,000,000 *1H 3,000
OEEMEABII=U=
2,500,000 x224 5,000
® 2=2H| 52,552 50,952 1,600
oceg :My s 1,000,0002#4CH 4,000
OCEETAA HETANAL S22 48,562
OSESZYY BHTANAEL SW
2,900,000 12& 34,800
OLEesdy HEXFAIAE HW
650,000& * 122 7,800
OE2FH|l FAEHI(E240, =23t
ot 38, HEPC2E) 496,000 <123 5,952
HH2LZH(FESAD) 55,992 52,962 3,030
=238l 55,992 52,962 3,030
JI23Hl 55,992 52,962 3,030
201 =3 24,092 23,562 530
01 At22t2lt] 24,002 23,562 530
CHEERS T TISIE=TT)
500,000& *19H 9,500
O=gHI(01=2HI)
8,000 x 19282 x 12 14,592
202 04| 22,800 25,200 2,400
01 201l 22,800 25,200 12,400
OZUHO{HI (DIZ=2HI)
20,0002« 19 +52 122 22,800
203 2R =& 3,600 4,200 A600
M EA2HER=AH 3,600 4,200 2600
O©J1FZHI(202! 0lI5t) 300,000& 122 3,600
405 AtatE = 5,500 0 5,500
01 ML ESFSHI 5,500 0 5,500
OT XS AP 5,500,000 *1CH 5,500




